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Note : (1) Attempt as many questions as you can. Each question carries 3 (three)
marks. One mark will be deducted for each incorrect answer. ‘Zero mark

will be awarded for each unattempted question.
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(2) If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one.
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1. This language was conferred with the status of ‘Classical Language' recently :

(1) Bangla (2) Oriya (3) Hindi (4) Marathi
3H 99T B TR A TS 9T & ToAt f2ar Ty 2
(1) e (2) sfear (3) f&=h 4) &

2. Which was the first linguistically organized Indian state after independence ?
(1) Orissa (2) Maharashtra
(3) Andhra Pradesh (4) Karnataka

WaAFdT wiftd & gvard 9l IR W) 13d UEd ARAE 90 PE-91 2 ?
(1) S (2) HERTE (3) I w2 (4) ®Ales

3. What is the official language of Madhya Pradesh ?
(1) English (2) Hindi (3) Santhali (4) Maithili

T G B OATST FqT & ? .
(1) 3ash 2 =y (3) Tureh (4) ¥fdsh

4. How many languages are recognized in the Eighth Schedule ?

Id IR A A wmad A=A g & 2
(1) '14 (2) 22 (3) 25 (4) 30

5. Whichoneis a low vowel ?

T A -9 s v 2 ?
(1) [i] (2) [o] (3) [e=] 4) [e]

(2)
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Which among the following is the language bélonging to Dravidian family
spoken in Pakistan ?

(1) Punjabi (2) Urdu (3) Brahui (4) Sindhi
T ¥ P T TR ¥ A o A 2R IRaR & A @ 2

(1) g 2) 3¢ (3) =rgd (4) fa=h

.. The non-Indian scholar known for a very famous work on Hindi Grammar :

(1) Ahdronov (2) Kittel (3) Gundert (4) Kamil Bulke
R @ ® (e AeEp w1 @ g 39 ARG Reg™ &1 9 fon Sran @

(1) 3m==a (2) feea 3) T=2 4) T g

Which language belongs to Austro-Asiatic family ?

(1) Japanese (2) Kharia (3) Thai (4) Tamil
T A -G 91 IR tRrfes uRar &t 2 ?
(1) Smarh (2) @fear (3) a3 (4) afa=

.. The language belonging to Indo-Aryan among the following is :

(1) Tulu (2) Kodagu (3) Santhali (4) Mahal
qg e WRAT amd ¥re 9RaR & 2
(1) 99 2) B (3) |uTh (4) wEd

Khasi is spoken in :

(1) Andhra Pradesh (2) Meghalaya
(3) Punjab (4) Bihar
S TE A T R

(1) I W (2) waTTd

(3) e | (4) faER

(3) P.T.O.
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11.

12.

13.

14.

15.

16.

The Indo-Aryan languages have descended from :

(1) Sanskrit (2) Germanic (3) Latin
R T sl A gt e &

(1) wepa - (2) (3) e
The language of the sacred Budhist texts is :

(1) Pali (2) Apabhramsha (3) Tulu
Ag -T2

(1) oy (2) muw (3) 99
English belongs to this language family :

(1) Semitic (2) Dravidian (3) Germanic
SV 3w AT URAR ¥ WAy v 2

(1) @ (2) =fas 3) s

Urdu is the national language of :
(1) Saudi Arabia (2) Bangladesh (3) -Maldives

3¢ Tt & g R}

(1) |ed 3Re () F@rRy (3) wrerdra
Prakrits have developed from:

(1) Sanskrit '(2)- Apabhramsha (3) Gaelic
qIpal B ST HTET @

(1) |&pa (2) Iauy (3) Mo

The writer of ‘Language' is :

(1) Gleason (2) Bloomfield (3) Hocket
ArIS @ =gfdar @

(1) e (2) <EPres (3) gde

(4)

(4) Greek
(4) g
(4) Sinhali

CYRGES]

(4) Indo-Iranian
(4) era-ERER
(4) i’akistan
4) ufdrem=

(4) Celtic

(4) dfes

(4) Chomsky

(4) a=D



17.

18.

19.

21.
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Panini is known for the following work :

(1) Mrichakatikam (2) Siddhanta Kaumudi
(3) Ashtadhyayi (4) Shakuntalam
e & afrg o @

(1) Jeosfeaw (2) Rigia ad

(3) AT (4) @I

Which among the following is an isolating language ?

(1) English (2) Turkish (3) Dutch (4) Vietnameses
= & g7 srarTeTe W ®
(1) arrh (2) gt (3) =4 (4) fagaamh

Which one of the following languages has 'Subject-Verb-Object’ as word order ?

(1) French (2) Hindi (3) Telugu (4) Japanese
o=t wmeralt ¥ fre W &1 ek HW Fal-fea-ad @ ?
(1) wifkr (2) &= (3) a1 (4) STaTR

Identify the Portuguese word in Hindi :

(1) darpan ‘ (2) nadi (3) baalti (4) jal
e ¥ SuR forn gon Gl e B wEAAC -
(1) g 2 & (3) I (4) o

What kind of compound is 'laalkila’ ? _
(1) dwandwa (2) karmadhaaraya (3) bahuvriihi (4) dwigu

o frow e TR B TN 8 7 o
(1) & (2) FHRY (3) A% ) - &
(5) | P.T.0.
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22.

23.

24,

25.

The linguistic variety that is utilized as a link language in a multilingual setting
is known as :

(1) Stamdard Language (2) Creole

(3) Vernacular (4) Lingua Franca
T wdt ¥ e W ¥ Suge e wY B BEd &
(1) A& e (2) fovare

(3) ¥ (4) TP eI

Urdu looks generally towards the following as a source for expanding its
vocabulary :

(1) Persio-Arabic (2) English (3) Tamil (4) Sanskrit
HTA T T B e B Ay 9 agen 39 9T W W AR ved 2
(1) RA-HRA (2) 3ash (3) af¥= (4) E&=pd

‘Brihatkatha' was supposed to have been originally composed in which
language ? '

(1) Paishachi (2) Sanskrit (3) Persian (4) Avadhi
FEASAT B U UEA fHE 9 A A S A A R 2
(1) e (2) d&pa (3) HRH (4) 3raeh

The first major Linguistic survey of India was conducted by :

(1) Turner (2) William Jones
(3) Grierson ' (4) G.N. Devi
WRA B 9H 99T |30 1 fdar

(1) ek (2) faferm wra

(3) fraed= _ (4) Mo THo 24

(6)



27.

28.

30.

3.

The symbol for the dental stop is :

1) [t , (2) {m] 3) [k]
T Wil & fo yge oot 7 2

(1) [4] ) @ Q) [#]

Which language family does Bangla belong to ?

(1) Indo-Aryan (2) Iranian (3) Dardic
T g v-aRar | dau @ 2 ?
Q) =g (2) TR (3) =T

How many syllables are there in the word ‘saamant’ ?

(1) Three (2) Five (3) Two
Ha e A fhan weR & ?
(1) @4 (2) da 3)

Who wrote 'Vaakyapadiya'?
(1) Hemchandra (2) Patanjali

Ay fHaa forad oft ?

(1) a= A ) gaafd 3 (3) R ¥

The Tatsama word in the followiﬁg is:.
oyl A qo I R
) (2) W@ (3) 3y

Identify the loan word in English from Hindi :
SR ¥ RD J T IR H GEAT

" (1) Comfortable (2) Jungle (3) door

(7)

(3) Bhartrihari

4)

(4)

@)

4)

4)

(4)

4)

(4)

(4)

)
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[c]

(@]

Germanic

e

Four

Mammat

To7e 3

voyage

P.T.O.
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32. Vﬂ.lhich one is a central vowel ?

- g R R ? .
(1) [a] (2) [a] (3) [o] 4) [e]

33. Which one is not a vowel ?

T QA P R TER?
(1) [&E] (2) 7] (3) [2] 4) [B]

34. Which dialect is associated with Ram bhakti poetry ? _
(1) Braj Bhasha (2) Magahi (3) Avadhi (4) Bundeli

i s @ fag gge e SR 2 2

(1) AT (2) & (3) 3raeh (4) TN

35. Choose the state where Tamil is one of the official languages :

(1) Andhra Pradesh (2) Rajasthan
(3) West Bengal (4) Pondichery
IS 39 I A ol ¥ e 2 -

(1) 3% w2 2) I
(3) afEw T (4) =D

36. Which language has not developed from Sanskrit ?

(1) Hindi (2) Gujarati
(3) Marathi (4) Kannada
fowr e 1 SRy wega ¥ T d 2 2

(1) &= @) ‘Ffﬂ?ﬁ
(3) W | 4) 313

(8)
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37 The emergence of Historical and Comparative Linguistics in the 19th century
was inspired by the famous pronouncement of :

(1) A. 0..Hume {2) Sir William Jones
(3) Rev. Caldwel . (4) William Bright

mﬁﬁmsﬁmmmmmuf%Em%
ﬂiﬂ'lfaﬁ!m:

(1) To 3o &YH (2) ® Rferw S
(3) Yo FHTesad ' (4) faferaw @<

38. The Hindi word 'ghud-daud’ is an example for :
(1) Endocentric Compound (2) Copulative Compound
(3) Exocentric Compound (4) Avyayibhav Compound
To-AF IR TH THH FT IITER & -
(1) saadfsa a9 (2 g=® | ™
3) sfe=fsa ww (4) srdrra |HTE

39. The state with English as the State language in India is :

(1) Karnataka (2) Nagaland (3) Gujarat (4) Bihar
U B I P JAT W R BT 199 @
(1) Fles 4] ’f""?"s 3) o (4) feEr

40. Shaurseni Prakrit is the antecedent of :
(1) Western Hindi (2) Marathi (3) Eastern Hindi (4) Kashmiri
AR wrpa gwHT TR 2
(1) ufted R @ @ (3) @ =7 (4) e

‘( 9) ' P.T.O.
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41. Konkani is the major language of :

(1) Madhya Pradesh (2) Orissa
(3) Goa (4) Gujarat
Fiedht agt & gy w2

(1) ™ W& (2) wdrem

3) v (4) o

42. How is the Hindi word 'daak-ghar' related to the English word ‘postoffice’ ?

(1) -Loan translation (2) Loanblend

(3) Loan (4) Loan shift

D &1 = Tre-w N B URe-iifhe e W F@r Hay @@ R ?
(1) <A IFgarg (2) ff3a e

(3) e (4) JATETHAROT

43. Select the synonym of the word Jolly":
Tolly' rx &1 ggtgardl =z gy :

(1) bitter (2) very happy
(3) wicked ' (4) bad

44. The author of 'Malgudi Days' is :

(1) R.K.Narayan (2) Arundhati Roy
(3) Raja Rao (4) Sarojini Naidu
HATS! SUH @ AQWS & ¢

(1) 3MRo Po AR (2) sremfa

(3) <TomRTa (&) R g

(10)



45.

47.

49.

50.
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'Madhushala’ is the work of :

(1) Bhishma Sahni (2) Phanishwarnath Renu
(3) K. A. Abbas (4) Harivansharai Bachchan
AYATAT 37! TG 8 -

(1) rs1 grER (2) woieaRTy X9

(3) Po To Ia&TH (4) sRIIRTT TTA7

Which among the following is not an articulator ?

(1) Lips (2) Teeth (3) Tongue (4) Nose
T QA PH-9 IR yagg JE & ? :

(1) s (2) T (3) forga (4)
Find the simple word among the following :

1 § e o gEwfag

(1) handset - (2) cheerfully (3) wish (4) ability

Identify the noun with a dimunitive suffix :
T YN §IF g9a |fea 991 S qgwifag ‘
(1) piglet (2) coronation (3) ability (4) shipment

Who wrote the novel 'kab tak pukaroon'?

(1) Sudarshan (2) Premchand
(3) Jainendra Kumar . (4) Rangeya Raghav
Pa q6 P [SAP ITAE & 7
(1) ged= (2) wa=
(3) dr= TR (4) 3P UE
Who among the following is associated with sufi poetry ?
(1) Rahim ' (2) Tulsidas (3) Jayasi (4) Kabirdas
R G I AR ¥ ? -
(1) €m (2) qedET (3) R 4) R

(11) P.T.O.
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51.

52.

54.

5S.

Find out the Secondary Cardinal vowel :
PIH-91 Mo A°S TR B ?
(1) [a] (2) [e] (3) [a] 4) [u]

Who is the only Indian citizen to have won the Nobel prize for literature ?

(1) V.S.Naipaul (2) C.V.Raman

(3) Rabindranath Tagore (4) Hargobind Khurana
e & foay Aad HR I T T AA WRAE RS €

(1) §o THo FUUTA (2) JHo fo T

(3) == 3R (4) &Mfe= QL
Which one is not an active articulator ?

(1) soft palate (2) upper teeth

(3) lower lip (4) tongue

-1 3 Ay w01 TE R 2

(1) ama arg (2) S99 <

(3) RIS (@) e

The notion that language determines our thought is attributed to :
(1) Bloomfield (2) Sapir & Whorf

(3) Robert Lee (4) Halle

T8 Jquron & 4mar R et & PuiRa axd @, 39 29 2
(1) <pHIeS H (2) ¥9R Uq B A

(3) ¥ A 4) &3 A

Which language does the word ‘perestroika’ belong to ?

(1) English (2) French (3) German (4) Russian
WEAST W b wmer &1 & ?

(1) 3 (2) Wi B (3) @ @) v @7

(12)
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59.
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The vowel in a Syllable constitutes its :

(1) Coda (2) Peak

(3) Prothesis (4) Onset

HeR § TR P Tg T oA R

(1) RS A= _ . (2) ¥d

(3) anfe fafefay (4) Ara® &ASH

Which of the following is not an Indo-Aryan Language ?

(1) Bangla (2) Gujrati

(3) Tulu , (4) Punjabi

T A IF-A T Rt F# R ?

(1) = | (2) o

3) 39 (4) GoTdr

Which language family does Arabic belong to ?

(1) Caucasian (2) Romance (3) Indic (4) Semitic
IR BH-{ 99T gRaR A/ 8 ?

(1) s (2) I (3) W (4) |

Which word does not take the prefix ‘bad-' in Hindi ?
R # ‘a=- Suwt f5w v & T T Jear 2 ?
(1) 79« (2) T (3) ™ (4) ®™

What is the active articulator for the sound [n] ?

(1) Velum (2) Back of the tongue
(3) Tip of the tongue (4) Lower Lip

(A) cafy 3 I=aRor & wga RO -1 8 ? _-
() ¥3 2) Rrem-ven

(3) Rrga-s (4) Fraen s

(13) . | . P.T.O.
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61.

62.

63.

65.

Which of the following is not a native sound in Hindi ?

1) [f] 2 0 @) [pl (4) It]
e wafal ¥ - af R 4 9 782 ?

1) %] @ [=] 3) [[] (4) [q]

Which word is the opposite in meaning t¢ ‘Obey’ ?

.'Obey' & &1 fAcw a3-a1 8 ?

(1) Disturb (2) Disrespect

(3) Disenchantment (4) Disobey

Identify the Bound Morpheme in Hindi :
T 95 SR B TEAI

1) Pr- (2) ST 3) 3R (4) <Ts@1

Find out the labiodental :
(1) [n] (2) [m] 3) [k] @) [v]
T T P-4 R ?
M [ ) 7] ) (@] () [{]

Find the bound morpheme in English :

T AW BT U dg ©AH PH-91 & ?
(1) Can , (2) Mill (3) -ity (4) to

Pick out the Voiced velar plosive from the following :

T WO Bau Wt @ geafg

(1) {m] ) [g] @) [d] (4) [d]
(14)



67.

70.

7.

72.

Which is the close back vowel in the following ?
¥ IvE H3a W@R PHE-|1 8 ?
1 [l ) [e] @) o]

Pick out the retroflex nasal from the following :

(1) [m] ) ] 3) Il
T i v B gEf
) @ ) [ 3) [3]

Find out the lateral from the following :

1) s @ hl 3) 1&]
T TRER 3 grEfg -
1) @ ) =) 3) (3]

Find the free morpheme :

T o iﬁfﬁﬂ‘ &1 ggafag -

1 - (2) - (3) -
Hindi word ‘3 isa:

(1) Tadbhava (2) Borrowing (3) Tatsama
R e oifey B

(1) @@ (2) SR (3) aEH

The antonym of “&fita®” is :

Aaffs :m_mfaa’mt:
(1) FF®R (2) "= (3) o™

(15)

4)

4

4)

@)

(4)

(4)

4)

4)

14P/238/5

[u]

[n]

(7

)

(<]

Neologism

Fafafafa

4) v

P.T.O.
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73.

74.

75.

76.

What is the Sandhi in the process illustrated here W+ SUBR > WUBR ?

W + IIPR > WUSR ¥ <q 9 I-W & ?
(1) Tor S ) faat «fy (3) & Wy (4) 3fg &

What type of compound is the word SId-qua ? |
(1) Dwandwa (2) Tatpurush (3) Karmadharaya (4) Bahuvrihi
SUF-JUT T A Rrw aXE BT T & ?

(1) g8 (2) agoN (3) FHuIRT (4) sgdfe

The meaning of the word '#¥" is :

T W FT e R
(1) ©E (2) = (3) wa=tar (4) FE

Which of the following word has a suffix ?
T A PH-Y IR D 9 et g ?
(1) M= (2) fPrew (3) C (4) IETEES

What is the case of the subject ?

(1) Nominative case _ (2) Accusative case
(3) Dative case ' (4) Oblique Case
RW I W -1 amas TIg T @ ?

(1) @at RS | 2) ¥4 IR

(3) IR_RTH FRS (4) ds PRF
(16)
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78. When the intransitive sentence is transitivized its subject corresponds to this
Grammatical function in the sentence :

(1) The Subject (2) Object
(3) Oblique object (4) Instrumental case

FHHS A B TIEP ¥ IRAdA I W THS NW AW P FH AHAD
s ¥ Ao

(1) Ste (2) =

) fds = (4) I BRS
79. Syncope is the loss of consonant or vowel F

(1) Word initially (2) Word finally

(3) Word medially _ (4) Anywhere

7 A9 ¥R AT A BT A9 ¢

(1) 7 & afX ¥ : (2) & A

(3) = & W A 4) R A

80. Who is the author of 'In an Antique Land' ?

(1) Kamala Das (2) Keki Daruwala
(3) Pritish Nandi (4) Amitav Ghosh
'In an Antique Land' & vef¥ar a9 & 7
(1) @9 T (2) I FTHATA
(3) Dy =& | C (4) fdag A
81. Who among the following is a Gyanpeeth awardee ?
(1) Agyeya (2) Nagendra
(3) Saratchandra Chatterji (4) Yashpal
Tt N fvee wedis W g 2 7
VK S (2) W
(3) wrerees weolt (4) TR

(17) : P.T.O.
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82. Who is called the father of modern Linguistics ?

(1) Ferdinand De Saussure (2) Sapir
(3) Bloomfield (4) Pike
sfre wfds @ See e wrar o @ ?
(1) wxReT= R oy (2) wiR
(3) =P (4 ¥
83. The major contribution of Labov is in the field of :
(1) Pragmatics . (2) Sociolinguistics
(33 Phonology (4) Language Teaching

€ BT T AR 39 &3 ¥ @ |
(1) vorates fasm (2) w1 W fagms
(3) wfm g (4) wma1-Rmeor

84.. The writer of ‘Mahabhashya" is :
(1) Patanjali (2) Mammat (3) Yask (4) Katyayan
T’ @ TIATPR &

(1) gaufe (2) 97e (3) a=p (4) @rarET

85. The description of vowel [0] is :

(1) Open Front Vowel (2) Half Close Back Vowel

(3) RoundeC‘J Close Back Vowel (4) Rounded Close Front Vowel
(3] F1 av= 2 -

(1) faga s v ¢ (2) anf wga gvw =R

(3) FTPR Ayd Uvg wR (4) JOBR WIT 3T TR
(18)



87.

The following is a Eastern Hindi dialect :

(1) Brajbhasha (2) Chattisgarhi (3) Hariyanvi
7z @t =} &t arch 2 |

1) wEm @) e (3) ERawd

Who among the following is a Neogrammarian ?

(1) Bloomfield (2) Hjeimslev (3) Karl Brugman

T QA fFgd ToH Tadgarere ®§ & o @ ?

(1) wpTPiee (2) g=Aa (3) @ g

The dichotomy of langue and parole is attributed to :
(1) Saussure (2) Chomsky (3) Sapir
dfT vd IR &1 Rdu g 3 2

(1) I=R (2) ar=H (3) |R

Phonetics in the Indian tradition is dealt within :

(1) Pratishakya (2) Shiksha ¥ (3) Padapaatha
HRAT R ¥ afy s o segge e T 2
(1) wfeemz A (2) o % (3) UgUE A

The manner-of articulation of [/] is :

(1) Fricative (2) Trill ~ (3) Lateral

w@fy [J] &1 IWRO WS &

1) wadt B () Jfea (3) wid®
(19)

14P/238/5

(4) Khariboli

(4) @SR

(4) Hocket

(4) gde

(4) Lyons

(4) Srara

(4) Nirukta

(4) freaa ?

(4) Retroflex

(4) T

R.T.O.
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91.

92.

93.

94.

95.

Implosives are found in :

(1) Marathi (2) Kannada (3) Sindhi (4) Bangla
FIEca Jepfed wafdl g9 W § e & -

(1) = 3 (2) s=ig A (3) = A (4) e A

The Approximant in the following is :

(1) Ir] ) 0] G (4) [n]

T wodd wware «afy @ s @

M R @ (3 @ [ @ [

Words having similar forms but differing in meaning are known as :

(1) Synonyms (2) Heteronym (3) Homophone (4) Antonym
Mmﬁmmﬁé@ﬁmm#mmél

(1) Tt g (2) fRwred v (3) IR AR (4) Pemie T
A word whose meaning is included in some other more general word is known
as:

(1) Acronym (2) Hyponym  (3) Homonym  (4) Homorganic
T T R e R o e v A e @ e TE T @ o @
(1) uRaoft wreg (2) 3r@faar (3) wHfAan " (4) wrRTfar
Epenthesis is the insertion of a vowel between :

(1) Between two consonants (2) Between two vowels

(3) Before a vowel (4) After a vowel

(20)
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afAfefa & @ef @~ @ar @ ¢
(1) AT B ™I (2)  =RI'B 7Y
@) 3 gd (4) &R B gEEE

Jayashankar Prasad is known for the composition of :

(1) Ramcharitmanas (2) Ram ki Shaktipuja
(3) Urvashi (4) Kamayani
SaTER g 39 39 @ fog ufdg &

(1) R am e (2) Y™ & wfdrgen
(3) s (4) s

The phonetic change in patra > patta is an instance of :

(1) Progressive assimilation (2) Regressive assimilation
(3) Progressive dissimilatioh (4) Regressive dissimilation
W>mﬁmmﬁq%mmﬁaméz

(1) R FAH (2) TTETA FHHROT

(3) Rrmit e (4) g fRedieso

Which of the following is an example of a sporadic change ?

(1) Assimilation (2) Metathesis (3) Epenthesis (4) Apocope
=/ -8 9w Rad= sfrafa 2 ?

(1) |z (2) vt fagdx "(3) smfaf2fd (4) I=gaM

Find the aspirated palatal stop :
1 [t (2) [d"] 3) b @) ("]

T e HEw WY 48 2

1) = @ [ 3 ™ (4) [s]
(21) P.T.O.
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100.

101.

102.

103.

104.

The phonetic change in strii > istrii could be termed as :
(1) Epenthesis (2) Metathesis (3) Dissimilation

&> g 4 affa wafy wRadw & W 78 2
(1) smfafefa (2) avt Rudg (3) ez

The voiceless retroflex fricative in Hindi is :

(1) [c] @ [ (3) [z]
ey g wadt 77 2 -
M@ @) [9) 3) [

Tamil is a major language of :
(1) Bangladesh (2) Nepal (3) SriLanka

e 39 29 9 T yg@ AW R _
(1) areRY (2) urd (3) e

This is an-agglutinative language :

(1) Turkish (2) Chinese (3) Arabic
qE ANTTHS 9T 2 _
(1) (2) @ (3) =&

The state of the glottis during the production of [t] is :
(1) Closed (2) Wide open
(3) Partially open (4) Vibration

(@] P SwaRY 97 Fea ) Rfy 7= & 2

(1) < (2)@@
(3) s w9 }F g (4) F9 |

(22)

(4) Elision

(4) @

(4) [s]

@) [|]

(4) Thailand

(4) urEAvS

(4) Latin

(4) afe=



14P/238/5

105. The minimal free form in a language is known as :
. (1) word (2) phoneme
(3) morpheme (4) formative
AN B YATH WA §H1S D e Al @
(1) 7= (2) wfm
(3) wfm (4) AvE

108. ‘A course in General Linguistics' is a well-known book by :
R

(1) Hjelmslev (2) Saussure (3) Trubetskoy (4) Bloomfield

‘A course in General Linguistics' §78 5ffg J&a 2 :

(1) ¥ (2) ¥=R (3) IR (4) =pTHIS
107. Identify the word with a geminated consonant :

(1) Naag (2) pal 3) pannéa (4) kaarya

T Rllga &o @ WY I g Ve g

(1) A (2) IS (3) 9= (4) a1d

108. Tone is a property of :
(1) Word (2) Phrase (3) Sentence (4) Sound
aA ggaT Afdeor 2
1) o= (2) geE (3) ag (4) @f

109. Interchange of segments in adjacént syllables in a word is known as :
(1) Assimilation (2) Metathesis '

(3) Contamination (4) Amelioration
(23) ' P.T.O.
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110.

.

12

113.

& ¥ Preeadt sl | R @iy afil 1 IR R ded @ uibar &1 4
2

(1) TR (2) 79t fauda

(3) afewsor (4) sreiferd

Meerabai is well-known for writing in the meter :

(1) Pada (2) Dohaa (3) Satsaiyya (4) Sorthaa
g 39 o= ¥ forem @ fog wRig &

(1) w2 (2) 2w (3) W (4) W3
“Relative clause is a modifier of :

(1) Noun Phrase (2) “Verb Phrase

(3) Adjective Phrase (4) Prepositional Phrase

o1 Sy & fRAvs 7w 2

(1) &3n ggay (2) firar gy

(3) fadmor gzaw , (4) wufta ey

Avadhi is related to :

(1) Eastern Hindi (2) Bihari (3) Rajasthani (4) Western Hindi
I FHY S 2

(1) & = @) Red (3) oA (&) qReEd R=A

What kind of a word is ‘brunch’ ?

(1) Loan (2) Blend

(3) Contamination (4) Abbreviation
‘brunch’ ¥ fFq geR T & ?

(1) smra ) P

(3) wfspor (4) wfarerezor
| (24)
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118.
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118.
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The Dravidian language among the following is :

(1) Onge ‘ (2) -Santhali
(3) Malto : (4) Khasi
™ ol W 2 :

(1) = (2) wureh
(3) =N (4) T

Infixation is a productive morphological process in :

(1) Hindi (2) Arabic (3) English (4) Punjabi
e Wi B SRS S|eHT 76 W ¥ a3 fad ¢
(1) f=d (2) =& (3) st (4) T

Tones are used to distinguish identical words in :
(1) Punjabi (2) Marathi (3) Kodagu (4) Oriya
9 4T A art @ IREdE ¥ TEed TRl &1 IR far o 2

(1) T 2) & 3) By @) 3fem
The sound [6}in Englishisa:
(1) Voiceless Alveolar Stop (2) Bilabial Fricative
(3) Voiceless Dental Fricative (4) Voiceless Velar stop
N A af [0) TuH SaTERVT R ¢
(1) ey averen wH : (2) garsy wudl
(3) sy T=U wud (4) AW Tvsy WA

Which among the following languages is not a classical langusge ?

(1) Tamil (2) Santhali (3) Oriya (€) Sanskrit
P X AR o sy e 7T @ 7 -
(1) ohw (2) wureh (3) sRpw @) wep

(25) co P.T.O.
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119. The famous work by Kalidas among the following is :

(1) Mrichchhakatika (2) Abhigyan Shakuntalam
(3) Panchatantra (4) Siddhanta Kaumudi
T Fifaew fRfa ofg = 2

(1) geosfeE  (2) s wEaEm

(3) g (4) Foema wrgd

120. The word "9&d-9& is an example of :
(1) Partial Reduplication - ~ (2) Simple Compound
(3) Sandhi (4) Onomatopoeia

"TEA-UBH g 3IPT ISTET 2
(1) if® grofaa (2) WS 99N
(3) fer | (4) BT

121, The author of 'The Origin and Development of Bengali’ Saxena is :

(1) Suniti Kumar Chatterji (2) Baburam Saxena
(3) Dhirendra Varma (4) Katre

f& SRR tve Iaauie 3ife Tl @ oas & -

(1) gy FaR =esh (2) TR FERT

(3) ¥R= ant 4) &3

122. The affixation of the suffix - aai in ‘caturaaii’ produces :

(1) Adverb (2) Noun (3) Adijective (4) Verb
TR TR H - I7F Iget B JeN | 3E Iy A 2 -
(1) fFn fmer (2) w@an (3) frergo @)

(26)
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127.
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Which of the following is not a complex word ?
T QA P o v TE R ? |
(1) 3nsfgan (2) oD (3) ImwT (4) FHBIHROI

The following language has a dual number :

(1) Hindi (2) Sanskrit (3) English (4) Tamil
39 T ¥ fgaua R
(1) =0 (2) w&pd (3) s (4) afa

The minimal need-filling language evolved in contact situations to facilitate
limited communication among interlocutors is known as :

(1) Pidgin (2) Vernacular (3) Lingua Franca (4) Provincial

qF gl # AR amaemsaslt A ofd @ faw I TeE wH-gers; e 6
QE A AT R

(1) = (2) I HT§T (3) D mtﬁ (4) g ach

The word &R-¢fR" is an example for :
(1) Echo-words (2) Redu_plicatjves
(3) Lexical Doublet (4) Onomatopoeia

IR-IR’ TS ITERT R ¢
(1) 3B 1= (2) g (3) w=-ga (4) SFUTIHI

Identify the language written with Devanagari script :

(1) Punjabi (2) Tamil ~ (3) Nepali (4) Tulu
w fafy ¥ foredt wRrareh s @ wEAT '
(1) gomd (2) afa (3) AU 4 I

(27) P.T.O.
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128.

129.

130.

131.

132.

The Jain scriptures are composed in ?

(1) Pali (2) Ardha Magadhi (3) Magahi
I TRl Y T 3 A 6 g%

(1) ofa (2) 3t APTEh (3) wTE
Vidyapati wrote in :

(1) Avadhi (2) Bhojpuri
(3) Chattisgarhi (4) Maithili
fRemafa 3 31 w1 F =@ FH

(1) 3raEh (2) g
(3) BT (4) AR

The Hindi word pair 1" and 'R are examples of :
(1) Synonyms (2) Homonyms (3) Antonyms

R w=ga v 7 RF 39d TRV 2

(1) wwTmRf (2) wFEmh (3) facimmeft
The example of a closed class category is :

(1) Noun (2) Postposition (3) Verb
TARE FATH ATHIOD PIfe BT IQTEROT 8

(1) | (2) ot (3) e
The head of a Noun Phrase is a :

(1) Verb " (2) Adverb
(3) Complementizer (4) Noun

HEUEa & [T ¢ -

(1) fan (2) frar faryor

(3) wHIHRUTHA! - @) s
 (28)

(4) Sinhali

(4) fageh

(4) Nouns

(4) s

(4) Adjective

(4) fadror
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134.

13S.

136.

137.

The initiator for the production of major speech sounds is :

(1) Lungs (2) Oral Cavity

(3) Larynx (4) Pharyngeal wall
Sfreia I @l # saft ¥ geas suEs §

(1) @3 ) 79 faw

(3) wxaF 4) TEHR N MR

The English words 'love’ and ‘hate’ are :

(1) Synonyms (2) Antonyms
(3) Synecdoche (4) Homophones
SN ¥ ‘love’ T ‘hate’ IHGT SRR -

(1) |t (2) facmft

(3) iRy | (4) wHEAl

The manner of articulation of the Hindi sound [k}is :

(1) Affricate (2) Trill (3) Lateral - (4) Stop

R ¥ (@) 1 vaS TE

(1) g g (2) fea (3) uf¥a® (4) et

The pronunciation of 'lucknow' as ‘nucklow" is an instance of :

FAEAH TR B TGS IRY FHPT ISR & ¢

14P/238/5

1) Métathesis (2) Haplalogy (3) Epenthesis (4) Anaptyxis

(1) vt Rudg (2) wweAfyay (3) smafafefa (4) w@oifaa

Which of the following words is Feminine in Gender ?
o ¥ PR e T 2 7

(1) w (2) 2@ (3) w1 NORLY

(29)

PTG
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138.

139.

140.

141.

142.

What is the variety of language where maximum attention is paid to monitoring
speech ?

(1) Formal Style (2) Casual Style  {(3) Sermon (4) Written

AT B T8 Sl e i R sfdedw e e S R, S @ w9 @ 7
(1) 3maRe At (2) sAgalRe dtt (3) SRy A (4) oRgF B

The Hindi word &$&3! is an example for :
(1) Onomatopoeia (2) Borrowing

(3) Lexical doublet (4) Contamination
e vz Ear gHHT IAERY @

(1) =R (2) SR
(3) U=-ga (4) wfwsror

The work of Yaska is : _ )
(1) Shiksha (2) Padapaatha (3) Nirukta (4) Aranyaka

IS H Pfa 2 -
(1) Rren (2) 9<UTS (3) fAea (4) 3IRvg®

The abbreviation AAP is an example of :

(1) Neologism (2) Analogy (3) Acronym (4) Blend
|G ¥ Y T 3BT ISTEIOT BN
(1) 7afafify (2) 93 (3) ufRaft (4) sy

Find the word with a consonant cluster :

AA-Tes |fea e $ ggufy

(1) vein (2) strong (3) big (4) Queen
(30)
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The script used for writing Punjabi is :

(1) Devanagari (2) Afabic (3) Roman (4) Gurumukhi
dord) 3 fR % R wh 2 - |

(1) g (2) @ (3) A @) TR

Find the word naming a product after the manufacturer producing it :

(1) Tower (2) Kleenex (3) Aeroplane (4) Motorcycle
IAEF & M W Fafera SAE ST A7 Tgdig
(1) eR (2) T (3) W (4) ArexarEfed

What is the part of speech of 'miserly’ ?

(1) Preposition (2) Verb (3) Noun (4) Adverb
‘miserly ¥ Pt qaa &

(1) gt @ fr (3) @ (4) fran fadrm

The part of speech of the word ‘wfafHar is :

wfafrar o 39 qeat &1 2
(1) frar (2) g (3) et (4) fadmor

The italicized clause in the phrase ‘bhaagte hue usne gaadi pakdi” is a :
(1) Adverbial Clause (2) Question Clause
(3) Relative Clause (4) Finite Clause

mﬁgmmmmﬂﬁﬁ%ﬂmaﬁmt:

(1) P R ST @ wer ST

3) o SwarE (4) Tt ST
(31) P.T.O.
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148.

149.

150.

The space between the vocal cords is known as :

(1) Larynx (2) Glottis (3) Pharynx (4) Velum
Wl @ P gR ) 8 € ¢

(1) w=T= (2) T&d (3) 7= (4) @

What is the part of speech of Jegvr=T ?

(1) Verb (2) Adjective (3) Noun (4) Postposition

TEIAT & T Uqat HH-91 & ? _
(1) ¥ (2) fadmo (3) T (4) wxat

[n} is the phonetic alphabet for :

(1) Palatal Nasal (2) Alveolar Nasal
(3) Velar Nasal (4) Bilabial Nasal
[z] 0 aft &1 fagm @ -

(1) aorm il (2) Tt f¥aa
(3) o Ry (4) gy TR

(32)°
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